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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  6.442 / 12

p0        0.002556± 0.0006582 

 / ndf 2χ  6.442 / 12

p0        0.002556± 0.0006582 

AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  5.228 / 14

p0        0.002556± 0.0006345 

 / ndf 2χ  5.228 / 14

p0        0.002556± 0.0006345 

AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  5.614 / 6

p0        0.002564± 0.000398 

 / ndf 2χ  5.614 / 6

p0        0.002564± 0.000398 
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  4.784 / 7

p0        0.002556± 0.0006174 

 / ndf 2χ  4.784 / 7

p0        0.002556± 0.0006174 
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  4.512 / 7

p0        0.002556± 0.0006699 

 / ndf 2χ  4.512 / 7

p0        0.002556± 0.0006699 

AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2
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AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2

 / ndf 2χ  13.58 / 12

p0        0.002568± 0.0007511 

 / ndf 2χ  13.58 / 12

p0        0.002568± 0.0007511 

AntiKtR060NHits12_TSIU_Trigger: JP0+JP1+JP2


	Contents
	Page 1


